AERFEH|RKNESHE_CSRE&HRXTFEYFALHR—F ESGT—9Fr® 202443 F
ESG F—% 20195 E 2020 202 | £ 20225 2023%FE B GRIZF> 5 —
IXLE—REEE 51,972 52,979 57,773 55,829 52,175 [MWh 302-1
FEETREI LT —REEE 51,809 52,801 57,579 55,607 51,953 [MWh 302-1
BETRIXNF—RHEE 163 178 194 221 222|MWh 302-1
Riott> 59— 0 7 31 32 30(MWh 302-1
AR BHAAR - - - 2 1 2|MWh 302-1
HEETIH (BEERHERAE) 163 171 163 168 157 |MWh 302-1
AFT7— L - - - 19 23(MWh 302-1
BATRET LY —thE 0.31 0.34 0.34 0.40 0.43|% 302-1
IXLF—HEEREM 32.75 35.13 37.86 37.44 34.90|MWh /£ E &t 302-3
23— 4,205 4,189 4,813 4,379 4,482 (t-C0O2 305-1
23—F2(ar—var i) 5,095 5,077 5,167 5,233 5,322|t-C02 305-2
2a—73 49,223 38,264 44,190 44,379 51,374 |t-CO2 305-3
BEMREH R (GHG) 8kt & (Scope | +2, 04— a> ##) 9,300 9,266 9,980 9,613 9,804 |t-C0O2 305-1,2
BEMEH R (GHG) #BHEH B (Scope | +2+3. 07— a2 ##) 58,523 47,530 54,169 53,99 | 61,178|t-CO2 305-1,2,3
2a—7| 2.65 2.78 3.15 2.94 3.00(+-CO2 /4 E &+ 305-4
2a—72 (O —a> ) 3.21 3.37 3.39 3.51 3.56|t-CO2 /4 E &+ 305-4
23—73 31.02 25.37 28.96 29.76 34.36|1-CO2/ &+t 305-4
BEMREHZ (GHG) HEE B R 11 (Scope | +2, 07— a> &%) 5.86 6.14 6.54 6.45 6.56|t-CO2 /4 E &+ 305-4
BEMEH R (GHG) HEH BR ¥4I (Scope | +2+3,. 04—~ a> £ #) 36.88 31.52 35.50 36.21 40.92(t-CO2 /£ EET 305-4
2a—7| 4,205 4,189 4,813 4,379 4,482|1-C0O2 305-1
23—TF2 (74w ) 6,976 6,647 6,203 6,497 6,690|t-C0O2 305-2
232—73 49,223 38,264 44,190 44,379 51,374 |t-CO2 305-3
BEMHEH R (GHG) #AHEE B (Scope | +2, v—/7y M%) 11,181 10,836 11,015 10,877 I'l,172[t-C02 305-1,2
BEMREHZ (GHG) #aHEE B (Scope | +2+3. v —4y hE#) 60,404 49,100 55,205 55,255 62,546(t-CO2 305-1,2,3
2a—7| 2.65 2.78 3.15 2.94 3.00(+-CO2 /4 E &+t 305-4
23—T2 (74w %) 4.40 4.4 4.06 4.36 4.48|t-CO2 /% EET 305-4
2a—73 31.02 25.37 28.96 29.76 34.36|1-CO2/ 4 E &t 305-4
BEMRAR (GHG) HF i B/R#AI (Scope | +2, v — /7y hEE#E) 7.05 7.19 7.22 7.29 7.47(t-CO2 /L EBT 305-4
SBESHEN R (GHG) HEH BRHE AL (Scope | +2+3, v —4y pEHE) 38.06 32.56 36.18 37.06 41.84(t-CO2/ £ EET 305-4
R2—73_A53Y) | _BALLEE-H—ER 44,264 35,303 38,889 41,483 49,249(t-CO2 305-3
23—73_hF 3 2_BAKREH 3,650 1,649 3,915 1,510 705|t-C02 305-3
23—73_AH7 33 K- TR F—FiE 752 778 814 822 829|t-C02 305-3
22—T73_H73N5_BEHNSEHLEEY 329 301 335 318 339(t-C02 305-3
23—73_AH73Y6_tik 53 54 55 57 59 (t-C02 305-3
23—73_AF3T_RBAZDEE 174 179 181 189 194 t-Cc02 305-3
A7) (1-2-3-5-6-7) Hr & 49,223 38,264 44,190 44,379 51,374[t-CO2 305-3
#53Y(2:3:5-6-7) Heh B 4,959 2,961 5,300 2,896 2,125|t-C02 305-3
#53Y (1:2:3-5-6-7) HEh BR AL 31.02 25.37 28.96 29.76 34.36|1-CO2/ 4 &t 305-4
#53Y (2-3:5-6-7) Heth BR# 3.12 1.96 3.47 1.94 1.42|1-CO2/ % Bt 305-4




AEHEMRA S _CSRAHYZTHEY T4LKR— ESGT—5Fr® 2024438
ESG F—% 20195 E 20204 2021 & 20225 2023%FE B GRIZZ> 5 —
FTRTDIMIS S DFAEUK & 307 302 306 297 306|FkL (=ML) 303-3
&K I I I I I [FkL(=ML) 303-3
T K I 3 2 3 I [FkL(=ML) 303-3
B 169 167 166 158 161 |FkL(=ML) 303-3
EEREREK = = - - -|FkL(=ML) 303-3
E=HNK 136 131 137 135 143|FkL(=ML) 303-3
LTOMHRDIAHEKE 268 257 267 251 260|FkL (=ML) 303-4
&K 76 68 76 70 75|FkL (=ML) 303-4
T K = = - - -|FkL(=ML) 303-4
B 192 189 191 181 185|FkL(=ML) 303-4
EEREREK = = - - -|FkL (=ML) 303-4
E=FNK = = - - -|FkL(=ML) 303-4
LTOHIRTHRIEEE 39 45 39 46 46|FkL (=ML) 303-5
KHEEBREM 0.025 0.030 0.026 0.031 0.031 [FkL(=ML) /4 EET |-
K TR ERER 1.57 1.09 1.69 .44 0.84|t 303-4
HEBEDRAHFT7— LIANE q01 86| 918 729 209 |t -
TI5RFvIER (HEBEFERS) 69.6 64.9 60.8 63.2 58.9 |t 306-3
RELLBEEDE 2,309 2,111 2,352 2,228 2,376t 306-3
RSN -TBEENDREE 0 0 0 0 oft 306-4
RAINGH - HERENREEE 0 0 0 0 oft 306-4
RAINEY A EREMRELEE 0 0 0 0 oft 306-4
RASNEBEENORER 2,309 2,111 2,352 2,228 2,376t 306-5
RYIN-EEREENMRREE 2 2 3 2 2|t 306-5
RAINFEERENMRRELE 2,307 2,109 2,349 2,226 2,374\t 306-5




AERFEH|RKNESHE_CSRE&HRXTFEYFALHR—F ESGT—9Fr® 2024431
ESG F=5 20195 E 20205 E 202 FE 20225 E 2023 E L-Xirs GRIZF> 5 — I
S/#e HEEH 409 417 422 437 450(%& 2-7,405- |
Bk 288 287 291 298 302|% 2-7,405- |
i 121 130 131 139 148|% 2-7,405- |
THREEXE LR 29.6 31.2 31.0 31.8 32.9|% 2-7,405-|

EHERK 381 387 397 41| 425|% 2-7,405-|
B 277 276 284 289 292|% 2-7,405- |
wik 104 1 113 122 133|% 2-7,405- |
YHEMELER 27.3 28.7 28.5 29.7 31.3|% 2-7,405- |

ERRFE A E K 28 30 25 26 25|14 2-7,405- |
B I I 7 q 10|% 2-7,405- |
i 17 19 18 17 15(% 2-7,405- |
YHEREFEAE LR 60.7 63.3 72.0 65.4 60.0|% 2-7,405- |

ERAFIRAREL 6 6 6 6 6|% 2-9,405- |
Bt 5 5 5 5 5|% 2-9,405- |
wik [ I I I I|% 2-9,405- |
L HERFIR LR 16.7 16.7 16.7 16.7 16.7|% 2-9,405- |

EIRRRAAEL 61 63 61 63 64|% 405- |
Bt 55 57 55 56 57|% 405- |
wik 6 6 6 7 7% 405- |
LU EERLE R 9.8 9.5 9.8 1.1 10.9|% 405- |

IEX B AE AL 28 18 20 24 21|% 401-1
Bt 18 10 16 15 % 401-1
Lk 10 8 4 q 10|% 401-1

FEERASHERICESSPRITA LR 64 52 68 70 14]%

IEX B #ER & 1A% 12 12 10 q 10|% 401-1
Bt 10 I 8 q 9|z 401-1
wik 2 I 2 0 I|% 401-1

T Fwh 42.0 42.2 40.9 41.2 39.7|% =
Bt 42.9 43.3 41.2 41.5 41.4|5% -
wik 39.8 39.7 40.1 40.4 36.3(% -

T Eh 5 15.4 17.0 15.3 15.5 13.8|4F -

Bt 17.3 19.5 16.8 17.2 16.4|%F =
53 1.1 1.4 1.9 1.7 8.5|% -
BuE (=BE—&i) 6.2 8.1 4.9 5.5 7.9|% -

LHEBOTHEMES - - - 6,035,437 6,163,910(H 405-2
Bt - - - 6,506,216 6,649,709 (M 405-2
Ltk - - - 4,982,375 5,133,010(H 405-2
EREBNELNELNDEZR - - - 76.6 77.2|% 405-2

EXBEOTHERES - - - 6,326,578 6,451,943|H 405-2
Bt - - - 6,792,977 6,969,198|H 405-2
wik - - - 5,261,932 5,356,779|H 405-2
EHENBLNELNER - - - 77.5 76.9(% 405-2




AEHE,RNESH_CSR&TRATFE) FALKR—F_ESGTF—9Fr 202443 A
ESG F=5 20195 E 20205 E 202 FE 20225 E 2023 E L-Xirs GRIZF> 5 — I
S/xe BRERE DT ERES - - - 2,112,034 1,829,349 |M 405-2
B - - - 2,228,212 1,909,086 | M 405-2
wik - - - 1,909,665 1,652,158|M 405-2
BHEAEBOBELNEENER - - 85.8 86.6|% 405-2

E IR B A 6 7 5 4 7|% =

b BEAEK 0 0 | 0 0|z =

BREAE 0.0 0.0 20.0 0.0 0.0|% -

BRAEREK I | 2 2 0|%& =

oS\ &2 A& (3B REFA) I 14 13 13 154 =

oS\ & 2 A (F/M) 2.22 2.12 2.61 2.92 3.43|% -

PEE | ALY DEIREHERIRIRG B $ I Il 12 13 13|84 =

FIRABRIRIE B3 (238G B 30 4,315 4,534 5,287 5,732 5,808 |8 -

FRABRRIRGE 62.3 65.7 70.0 73.0 71.0(% -

SEA 5 (BB AR 690,821 702,522 703,172 733,497 766,622 8RS 403-9

B R = EheF 141 140 139 140 |42 |e¥R,/ A 403-9

B R P75 $E R 5.00 2.00 3.30 3.24 3.18 |8/, A 403-9

MALHE (BFIERE - EEARF 2E) 174,000 183,000 183,000 183,000 191,000|M 202-1
REELLOLLER 142 150 147 141 139(% 202-1
EFEELDOLLE - - 129 - 125(%

MAEsE (LEHIKRFZE) 199,000 211,000 211,000 211,000 220,000|M 202-1
REELLOLLER 162 173 169 162 160(% 202-1
EFEELDOLEE - - 149 - 143(%

MAEHE (6ERIRFZE / KZRET) 211,000 227,000 227,000 227,000 237,000|M 202-1
RIEERLOLLE 172 186 182 175 172(% 202-1
EFEE LR - 160 155(%

BRSNS E 8 10 12 q 10|% -

EEEHH AEE 0 I 19 25 6|% -

LUFEBICFOHELLRERR 16 22 16 10 17]|% 401-3
Bt 12 18 15 8 15|% 401-3
wik 4 4 I 2 2|4 401-3

BRARELERIGLAEEE DRE 5 4 4 3 5|4 401-3
Bt I 0 3 I 3|% 401-3
53 4 4 I 2 2|% 401-3

BRAREREGE 31.3 18.2 25.0 30.0 29.4|% 401-3
Bt 8.3 0.0 20.0 12.5 20.0|% 401-3
Ltk 100.0 100.0 100.0 100.0 100.0|% 401-3

BRAEHN SERALICEEL TV SHE B DRE 5 4 4 0 5(% 401-3
Bt I 0 3 0 3|% 401-3
wik 4 4 I - 2|% 401-3

BRAEZOMEE DIEHE 100 100 100 0 100(% 401-3
Bt 100 - 100 0 100(% 401-3
wik 100 100 100 - 100(% 401-3




AEHEKRN S _CSR&EYRTFEY T4 l/rJ'\ |~_ESG7’—°—-7:EZ&) 2024%3H
ESG —4 20195 E 20205 E 2021 £ E 2022 FE 2023 E L-Xirs GRIZZ> & —F
S/#e BERAREZOREEDTER 100 100 100 0 100(% 401-3
Bt 100 - 100 0 100(% 401-3
543 100 100 100 - 100(% 401-3
NERE L ERIF L7163 B DAY 0 0 0 0 0|z =
Bt 0 0 0 0 o|& -
43 0 0 0 0 o|& -
NEREN SERBZICTEEL TV SREBE DR 0 0 0 0 0|z =
Bt 0 0 0 0 o|& -
43 0 0 0 0 o|& -
NEREZOREE DERR - - - - -1% -
Bk = = -1% -
bg:3 = = = = -1% -
NEREZLOHEBNEERSR = = - - -1% -
Bk = = = = -1% -
bg:3 = = = = -1% -
RELEHEK 0 0 0 0 (ECS =
TR EHE 4 4 6 6 7|4 =
T KEHE 0 0 0 0 o|# -
B EICLZEEE 0 0 0 0 0|2 403-9
TR EERE 0.00 0.00 0.00 0.00 0.00 |smssissmsnname~smam |403-9
ENF BB LB 0 0 0 0 23(H -
FEKERER 0 0 0 0 0.028 | st B2+~ mmese |-
B 2T LIRS ME - - - - ((I6IHH))7I o 22 i
BRI R EH 419 428 437 443 456|% 403-6
ZBEK 414 424 43| 439 454|% 403-6
2HE 98.8 99.1 98.6 99.1 99.6|% 403-6
ZIRRBI R EE 3 3 6 4 6| 403-6
ZIRRBEBEE [ 3 3 I 0|2 403-6
ZRIRBEBE 33.3 100.0 50.0 25.0 0.0(% 403-6
ZRLRF IR R HE 405 413 424 439 4654 403-6
ZIRE KK 313 320 355 377 353|% 403-6
ZIRE 77.3 77.5 83.7 85.9 75.9(% 403-6
AMSBHIED B ECZNERDN ZEK 125 139 143 150 113|% 403-6
ZBEK 125 139 143 150 113|% 403-6
ZBE 100.0 100.0 100.0 100.0 100.0(% 403-6
REE— AHTY) DERTEHIFHERR I 8 8 12 1 2| BRI 404-|
HEB—ALLYORETEER 110,774 45,792 58,664 71,744 69,672|H -
EBrXv ) 7RRICHALTEMRNRLEL -2 Z 3TV 3R E B DR 381 387 397 411 425|% 404-3
Bt 277 276 284 289 292|% 404-3
5:q:3 104 Il 113 122 133|% 404-3
ERrxv ) 7HRCEALTERNRLE2—2Z 3TV AR EB NS 93.2 92.8 94.1 94.1 94.4(% 404-3
BiE 96.2 96.2 97.6 97.0 96.7|% 404-3
g3 86.0 85.4 86.3 87.8 89.9(% 404-3

_5_




AERFEH|RKNESHE_CSRE&HRXTFEYFALHR—F ESGT—9Fr® 2024431
ESG F=5 2019 E 20205 E 2021 £ E 20225 E 2023 E L-Xirs GRIZZ> & —F

S/#e BEEREENRLLAISTSATURIEATEHBEONEEEK - - - - 64|% -
AT ATV RIEAT R HE £ Z I EEBMORE - - - - 52(% -
AT IATIREATEHRE LRI EEBNE S = = = - 81.3|% -
BCPICEAT 25 E NI R E K = - - - 466|% =
BCPICEAT 2K A £ X - ¥ B MR = = = = 466|% =
BCPICEAT2HF XTI HEBNEIE = = = = 100.0(% -
T AR Y L-BCPICET A HBE O R E K = = - - 64|% =
BCPICEAT 2% A % % - EEBOREK = = - - 64|% =
BCPICEAT 2 XA 2 X I EEBOEI & = = - - 100.0|% -
BREF2)TAET2HEOAZEE 409 417 422 437 466(% =
BREF2)TAET 2R E L2 Z I HEB DRI 409 417 422 437 466(% =
BREF2)TAEATIHE LRI HEBNEE 100.0 100.0 100.0 100.0 100.0|% -
BEMENRELEEREX 2 T 2HBEOHEER = = - 63 64|% -
BREF2) 7T 28 E 2 2 BEBORE = = = 0 0|2 =
BREF2)TAEATIHEEZ T EEBNEE = = - 0.0 0.0|% -
A (ER-NFRAVE) ICEAT2HEOHZEE 409 417 422 437 450(%& 412-2
AME (ER - NFRAVE) ISEAT 28 E 2 2 E B 0RE 409 417 422 437 450(%& 412-2
AME (BB -NFRAVN) ICEAT 2R E L ZIRERNEE 100.0 100.0 100.0 100.0 100.0|% 412-2
BB E SR LA (BB NSZAVRN) ICEATAHEOTEEEK = = = 63 642 412-2
AME (ER - NFRAVE) ISET 28 E 2 2 - BEBORE = = = 63 52(% 412-2
A (ER - NFRAVE) KT 28 E 22 BEEBOEE = = - 100.0 81.3(% 412-2
EHEBESRLLET—ISATNTDREATEIHEORNEEK = = = 63 64|4%
EHEBENRLLET—ISATNSORCEATIHE 22 TR EB DR = = = 63 64|4%
EEER R LT — 71 INTVRIET 2R B S RELENE S = = - 100.0 100.0|%
ZEEEICHTIREONREK 409 417 422 437 450|% 403-5
REEEICHTIRE 2L REB DR 28 18 20 23 21|% 403-5
ZEEEICHTIRE UL RERDNRS 6.8 4.3 4.7 5.3 4.7(% 403-5
EEMIN R LAR2EEICETIREONEER = = - 63 64|% 403-5
REEEICHATIRE 2 EEBOREK = - - 63 64|% 403-5
ZEEEICHTIRE R LEEBOZS = - - 100.0 100.0|% 403-5
FEERAT A G- BEURER) IS 2 BB DR ERK 409 417 422 437 450|% 205-2
FEBAT A G5 - BEUREA) ICBAT 2 8B £ It E B 0RE 28 18 20 23 12|% 205-2
FEBAT A G5 - BEUREA) [T 28 E 2 Z I REE DB E 6.8 4.3 4.7 5.3 2.7(% 205-2
EEMEN R LAREBUTA CEH- B [T 3HEONREEK = = - 63 64|% 205-2
FEBAT A G5 - BEUREA) ([CBT 28 E £ 2 I BEIORE = = - 0 0|z 205-2
FEBAT A G5 - BEUREA) ICBT 2 8B £ 2 - BREBOE & = = - 0.0 0.0|% 205-2
BEMRZICHATIHEOTREL 7 6 6 6 8|& -
EAMFEICETAHE £ 2 U LBERMREROREK 0 I 2 I 8|% -
BEMRECHTIRE S -RERFREENZS 0.0 16.7 33.3 16.7 100.0|% -




AERFEH|RKNESHE_CSRE&HRXTFEYFALHR—F ESGT—9Fr® 202443 F
ESG F—9 20195 E 20205 202 | & 20224 2023FE B GRIZS> 5 —F
A>T SAT U ROAEE TR 0 0 (0] 0 o|#% =
AREEHED 0 0 0 o o|# -
SMERIERE O - - 0 o|# =
B EUR 0 0 0 0 o|#% 416-2
2R 2 2R 0 0 0 0 o|#% 416-2
E R NFRAT O REE RE 0 [ 0 3 [ 406- |
AREEHED 0 [ 0 2 o|# 406- |
shERMEHED - - - [ [ 406- |
REHAR P IS E LT £ B B HI DRI 0 0 0 0 o|t% 406-1
FE<BE T ERBINER 0 0 0 0 o|#% 2-217
BRIRICET 2R 0ER 0 0 0 0 o|#% 2-217
gifg’gﬁmiﬁ#m&i&l:&‘),‘ﬁﬁﬁ&ﬂ“}'ﬂﬁ: o o o o ola 227191
it S RRE DTN EBRIZLY f A | F 7=
g;ffgéﬁgﬁ;ﬁggg&"‘; UGS 0 0 0 0 o|# 2-27,419-1
’ﬁf{ffﬂfgfﬁﬁ%@&i@ﬂiﬂ{Kﬁﬁ%U“f: 428 435 437 458 461|8,/% 205-2
ﬁiggéiﬂ;@éﬁ%ﬂm“ﬁﬁ%U‘“t 428 435 437 458 461|%,/% 205-2
HEE L7 TR BI MK 0 0 0 0 ol# 205-3
% b4E 144.0 141.7 156.7 156.8 l61.1[&A -
£EE 1,587 1,508 1,526 1,491 1,495+ -




